O)IEBWHHRIADE®ESR

FRk2352 A KRBT
BT (X) £ HEH| B X g BT (X) £ HEH| B X g BT (X) £ HEH| B X it BT (X) £ HEH| B X g BT (X) £ HEH| B x N

Z HET 48 64 65 129|7k B BT 153] 227 269 496|H1 X 287 357|382 739| =T 64 107 109 216|%E 85 128 143 271
rh T 29 39 42 81|iRE SHT 228 340 299 639 2K 269| 344 366 710| 3= BRHET 44 64 67 131| R BHET 46 69 91 160
$BCRHET 42 50 57 107| L& HHET 91 143 175 318|Ak3 X 44 53 58 111|485 TUET BT 33 51 50 101| A F{RET 32 67 73 140
HEET 77 104 102 206 |t&5K BT 24 50 40 90|dt % R HET 478 706 754 1460|421 3FHT 20 43 45 88| {2 BT 14 28 32 60
FEERET 90 114 130 244|Z EET 24 34 38 72| ARET 70 17 104 221 |#&TUET 77 17 113 230t & HET 16 25 22 47
REHT 45 55 62 17|t & SET 54 89 81 170| Pr BT 79 141 125 266K ATHT 189 255 262 517| S HEET 37 57 64 121
F EHET 265 384 371 755 |12 BB ET 189  290| 287 577|&EH—TH 76 97 106 203 |5z BT 53 67 62 129| F#HRET 62 94 93 187
J\BTHET 12 16 19 35|y BT 90 143 157 300|#EH - T H 96 119 151 270|rh BLET 119 135 131 266 HET 34 77 67 144
BT 21 35 50 857k & HT 65 93 103 196| =T B 101 116 138 254|{E HLET 416| 544 526 1,070|REBHET 58 92 108 200
AEET 24 37 47 84|12 ET 13 25 26 51|#EHmE TR 143 186 217 403| B & THET 51 73 80 153| & LB SHT 22 39 55 94
R—HHT 28 33 38 7| BNEHER 310 438 396 834|EIMATH 78 118 114 232|FifEAK 151 195 203 398| @ BHET 36 56 70 126
R FHT 77 83 94 177|%@8E—TH 197 271 278 549| K FE X 53 76 69 145 RIBMEX 124 175 172 347 | R AHET 34 56 55 111
= &AET 27 26 41 67|1BBAERX 59 96 105 201|dtEETBERX 232 355 393 748|FEFE MR 150  205| 223 428|lLEE—TH 61 76 92 168
BHIN\YER 434 552 596 1,148|B)IIHIX 5t 1497| 2239| 2254 4493|#HE—TH 154| 225 250 475|145 METR X 70 104 97 201|LBA=TH 86 138 139 277
BIN\YVER 98 124 142 266| Tt EFET 88 126 126 252|H M =TH 182| 269 281 550| = s=HT 128 171 171 32|lLEBA=TH 88 134 138 272
[ASIES P 231 318 331 649 | EHAEFET 66 103 92 195|F =T B 152 222 238 460| FEE—TH 58 83 64 147(ILBEMmTHE 144 127 179 306
I\ R ETET 196 223|238 461/ BT 21 37 37 74| HRETH 123|  209| 208 47| FELE-TH 114 149 171 320(ILEEERTH 87 143 148 291
rEET 438 669 697 1,366 EALEFHET 62 89 95 184\t —TH 149 197|210 407|EEHT 93 143 126 269|lLEAARTHE 109 175 163 338
BRET 17 24 23 47| ch A BFET 69 103 91 194|ch =T H 2000 297 324 621|PEAHIX 5t 1954| 2681| 2672| 5353(LSHX 5t 1,051 1581 1,732 3313
EIET 13 12 17 29|18 HIX 306| 458 441 8994t A ET 95 117 133 250 S FAHT 157 224|209 33| FREX—TH 138 196 191 387
ERATX 15 18 20 38| G ILfT 91 147 160 307| B 5t 3061| 4321| 4621 8942| =T 53 81 89 170| FREBE=-TH 96 140 114 254
BETHET 20 25 34 59| 1A ET 142|  200| 227 427|{ESCHET 195|  283| 325 608|4 EHT 91 129 123 252| FREFR=TH 147|201 206 407
HE BT 88 103 110 213| & RAET 230 270 307 577| AR 88 121 137 258| A2 HET 185  304| 318 622| FREERMTH 160 219|231 450
FEAHET 507 708 711 1,419|4t B BT 64 97 114 211|hHEIIR 56 76 103 179| 45 3. BT 31 59 61 120/ FRERAETH 126 178 182 360
R 85 95 100 195| BT REE S BT 14 23 21 44 RN 45 73 78 151|Z 3LET 77 17 136 253| FREERATH 159 242|261 503
deEAR2X 198 261 283 544K SEHET 24 44 43 87|48)11rHT 114 173 190 363 | &5 ET 122 184 185 369 FREFB—TH 130 170 180 350
JEHEARIX 61 60 74 134|dL =X A 71 92 163|+F HHET 17 30 41 71| & RET 52 91 95 186| FREB_TH 140 194 189 383
KR4 177| 258|248 506| % fHH—TH 128] 202|217 49| EFHEHX § 515 756 874  1,630|FHHBAT 16 27 30 57| FREB=TH 130 184 190 374
dEHEARSX 313|412 428 840| LRI 5t 764| 1054| 1,181| 2,235|= kHET 413|  623] 591 1214|#3F—TH 91 130 134 264| FREFAEDTE 102 128 148 276
deEAR6X 180  236| 238 474| = {RET 124 174 212 386 = sk HET 345 508 529| 1,037|AFIE=TH 54 84 7 155| FREBRTH 134 169 170 339
AEXBE_-THE 145 188 180 368| LAIRR 9 13 14 27|15 ET 42 73 79 152|#FE=TH 63 91 98 189| FREFBHATH 132 181 193 374
HE—TH 81 105 103 208| X 9 16 19 35| =K AT 56 87 106 193|#F (T H 96 142 136 278| FREFBELTHE 174 244 264 508
E=_TH 93 120 139 259| BHEX 9 13 13 26| ch#TRET 38 63 55 118|#FEETH 64 94 96 190| FRET/N\THE 116 147 157 304
HEE=TH 85 102 119 221 [SEALET 39 54 68 122(/\FE FHET 47 80 87 167|#F(ZARTH 67 88 90 178| F R EHm—TH 103 160 155 315
mhm—TH 96 108 121 229| £ ERET 19 31 28 59| /\FHHET 118 187 209 396|BEK—TH 91 135 139 274| FREE_-TH 139 221 216 437
HH=TH 111 147 189 336|/I7) 11 ET 38 54 67 121|—1RHET 58 73 83 156| B —T B 53 75 80 155| FREFHIK 5t | 2.126| 2974| 3,047 6,021
Ei5—TH 72 88 104 192| £ /]NIIBT 35 48 68 116| 2 ERET 149 223|235 458| MpitiX &t 1,363 2,055 2090|  4,145(44HT 110 148 157 305
EE_TH 113 161 145 306| 2 H#EHT 32 40 50 9|HEXMR 344 510  498|  1,008|t&;THT 364| 519 512  1,031|FAHAT 94 115 133 248
*EB—TH 120 138 155 293| = {RHTET 97 168 163 331|hEAHE 160  234| 239 473| FEHT 100 166 161 327|FEAAET 89 128 118 246
ZXEB-TH 89 142 137 279|BAEER 78 109 104 213|IRAE R 109 159 152 311|E4EFHE 308| 424| 386 810|FE4—TH 100 132 127 259
KRIE—TH 149 185 198 383| = /RAT 61 97 88 185|— 1R % X 197| 297|262 559| EH th T 338| 499 480 979|FEHM-TH 67 83 84 167
RKIE=TH 61 65 79 144| SRMX 5 550 817 894| 1,711|HIViESE—TH 73 104 105 209|4BitX 5 1,110( 1,608 1539 3,147|FEE=TH 65 96 98 194
#5—TH 63 74 77 151| 3 HLET 127 213 216 429|HSVEIE=TH 112 152 152 304 IR EFHET 67 105 92 197
HH-TH 63 72 86 158| K 5k BT 87 132 149 281|HSVHIE=TH 74 98 101 199 REREET 94 123 121 244
BH=TH 17 29 27 56 (AR X 115 154 185 339|HSVHESEMT B 120 175 159 334 [EEPNa ) 75 100 96 196
BX—TH 111 171 191 362|FHE—TH 151 139 198 337|/\BHKR 82 124 129 253 BEERH—TH 64 84 98 182
BH*=TH 10 12 12 24|/HFE-TH 60 77 76 153|MBHIX 5t 2537 3770 3771 7541 EERX 62 65 82 147
BEHXAETH 91 109 130 239| Kk FX 76 112 15 227 NIBEMX 5t 887| 1,179 1,206 2,385
BRATH 48 66 75 141|#FHIE R 118 182 178 360

BRrtTH 109 129 147 276|H FHHFE 45 66 75 141 FAfEthis 5t 24.410| 34,391| 35833 70,224
BNRIN\TH 90 127 144 271 |F HAEME 43 66 55 121

BRATH 1 1 4 5| R HERX 184 269 285 554

BX+TH 9 11 9 20| —AHIX 5t 1,006 1410 1532 2,942

MIEHX 5+ 5683| 7.488| 7979 15467
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FER23F2A RBHE
BT (X) & HEH| B ES Hi BT (X) & HEH| B ES N BT (X) & HEH| B ES Hi BT (X) & HEH| B ES Hi BT (X) & HEH| B ES B

EINE-LikE] 35 41 46 87|/ \IBHET 152 194 213 407 |3 R BT 119 161 188 349 NETH [E 42 65 91 156 | [ ZAET 43 70 75 145
EJNE:1E 145 226 240 466| ="=HT 49 72 83 155|FE 3R 7 BT 224 277 310 587 AT N ETIE 34 43 45 88| AR EFHT 21 37 44 81
EJNEric] 35 49 53 102| & (LIET 198 315 334 649| &% FHET 208 337 361 698 |;A N ET1EE 105 148 180 328|773— )Ltk 29 49 44 93
EJNET: 111 140 167 307|ch BHT 47 82 81 163|BA%—TH 104 157 153 310[;ATRETEY DB 55 80 83 1635 & ET 61 86 17 203
EJNPA:ai] 32 50 55 105|752 LT 46 72 72 144|38E R F HET 41 65 58 123 NET S LAV 55 82 73 155| % R ET 37 49 45 9
EJNEE: e 38 43 52 95|— /ZEMX 5t 492 735 783|  1,518|mIE A AT 35 67 66 133[(AINET O E & 16 25 26 51| FEFHET 43 83 82 165
EJNE: ] 46 57 67 124|EBE S BT 114 119 124 243| 7% BHET 56 86 87 173| A NETh E g 3 2 7 9| L FFHET 97 171 183 354
EJNEe 35 45 49 94| #B SR BT 88 126 128 254| i EET 151 235 240 4753 RET B2 jth 6 5 7 12| = 3R ET 31 52 55 107
EJNE R ad:i i) 57 Al 78 149|188k ABT— T H 31 42 49 91 (BT B 175 270 267 537[;A NET AR 21 31 45 76| FHE 27 25 36 61
E)IKARETE 29 31 40 T|ESRART =T B 30 40 46 86|BAX=TH 116 144 148 292 AT ETIR £ 9 9 1 20| LHE 21 33 38 71
EJNEd:ri] 37 35 48 83|ERRABT=T B 40 63 75 138| X1 FHET 108 161 172 333 NETHRE 16 19 17 36| 51l = BT 58 89 103 192
EJNE e 152 195 220 415|883k ABTM T B 188 266 271 537|' & 58T 146 235 239 474 NET &M 7 5 5 10| 3l = L BT 14 26 29 55
EJNE:E: g 45 47 58 105| #8351 B AT 161 190 229 419|EAETET 96 167 158 325 NET T 4 2 2 4|} FRET 53 55 55 110
EJNE:ES 73 108 107 215|883k RET 114 146 148 294 | BA BT FTET 77 104 107 211 NETA E 20 24 22 46 | #F-EHKET 27 39 43 82
EJNP:ric] 84 96 121 217|#53k L 3RET 39 43 48 91| EB A EHET 79 106 93 199[5TAMIE 5 393 540 614|  1,154|i%;2HET 18 23 27 50
EJNR: e 104 139 144 283|#8 3k T RHET 30 36 40 76| = S FHET 306 438 433 871| FTHE 62 89 102 191 | ZC FET 14 14 13 27
EJNE N 40 52 62 14|88k B 38 57 53 10| Fr &R A BT 31 49 40 89| L HE 95 105 140 245| =" HAET 5 1 4 5
EJNEIN:IES 85 96 102 198|#B £ &<FET 169  208| 249 457|MitX 5t 2,072 3,059 3120  6,179|BKE DR 56 86 75 161| S HAET 3 3 2 5
=) FNKRET 185  263| 273 536|#& 3 ET 79 103 125 228| B AT 172|  260| 296 556|1& B 19 37 42 79| E+AHET 0 0 0 0
=)IFKETER 197 259 289 548|#8 3k K F ET 33 36 47 83| O HET 122 188 203 391| KPR 21 2 19 21 | BT BT 11 10 11 21
F)MX 5t 1,565| 2,043 2271 4,314 |88k X EET 204 270 286 556 | K FTET 59 87 88 175| 38K 40 35 46 81|#N R ET 2 2 0 2
REAT 274| 376 431 807 |#B83k X E THET 53 91 87 178|BH % SHT 18 27 31 58| /&R 38 64 52 116| E7 tth BT 1 0 1 1
FHRET 248 323 357 680|#BRKFET=TH 7 10 10 20|4THET 51 89 92 181| FKi& 24 41 42 83|+H;EHET 24 32 51 83
FBEET 37 58 58 116|EBR/KFET=TH 55 85 101 186 /4R HET 41 70 76 146| L KRB 25 38 36 74| % EKET 41 54 64 118
RIEET 38 72 65 137|#8R/KFETRT B 26 40 39 79| R EFHE 60 81 73 154| RiBH 13 22 18 40| TEHAHET 62 95 105 200
TR SLET 135 238 228 466| %53k B HHET 29 39 51 90|t [RET 50 74 84 158|th & 51 51 65 116| L HAHT 45 59 68 127
e S 8T 251 363 395 758 |ESRHIX 5t 1,528 2,010 2206| 4,216|%AKHET 22 33 35 68| SEFoME 5t 444 570 637|  1,207|FE{k BET 33 59 49 108
St AT 69 107 120 227| A HSHT 226|  344| 366 710 B A #h 287 391 425 816 =VERHE 51 92 109 201
Ryl 245 331 363 694|/INNET 178  246| 276 522+ FREHET 154  220| 235 455 ST TR LLIET 46 73 79 152
HEHET 294 417 447 864|BAX-TH 153 213 209 422|E5RZ BT 197 284 284 568 UN:ia 320 6 6 7 13
Fe S #THET 21 23 30 53| /1N T 79 17 124 241 | R ARHTET 148 227 222 449 JATHE 18 27 19 46
ESFR 131 224 226 450| B {HFET 226 341 361 702| /BT ET 10 20 14 34 St 5t 942| 1414 1558 2,972
EEER 114 182 198 380|BA B ETIL/E 44 56 67 123| 3+ O $HET 52 85 95 180 =S 66 75 90 165
EEFEH 118 199 185 384| HEBETE/ K 23 31 38 69| 45 AR HET 125 198 190 388 e 7 7 5 12
IRERX 5§ 1,975 2913 3,103 6,016|B8 SETH+T 49 76 79 155(8B4@IIX & 1,568 2,334| 2443| 4,777 il 81 106 128 234
EET1X 55 74 76 150|BA S ET#G /#F 32 54 59 113 ZR 32 30 46 76
ERT2X 48 61 87 148|%& / REHHET 27 38 40 78| #ESKRihIE 5 7,723| 11,189 11,625 223814 gl m| 23 21 24 45
E3X 42 53 62 115 S & HT 86 147 136 283 g 8 6 6 12
B4R 46 53 80 133| LR S HT 51 78 73 151 Brs 1 2 1 3
EES5X 119 158 169 327| THSHET 64 92 88 180 P RHX 25 29 34 63
EET6 X 132 176 182 358| RS EHET 166  258| 230 488 EOthis 5t 243 276 334 610
EET7TX 36 57 53 10| F xS EHET 216 324 305 629 Big 2717 381 398 779
EET8X 94 116 124 240| RFFSHET 241 327 322 649 3= 93 123 17 240
EETOX 107 128 135 2634t Fx SHET 125 177 179 356 THE 0 0 0 0
EET10R 219 293 309 602| TG 7% SHET 25 35 33 68 BUEtg 5 370 504 515 1,019
EE11R 33 51 47 98| ch 7% S HET 52 97 88 185

EET1 2K 130] 225 201 26| FHIX  § 2,063 3051 3073 6,124

EX 5t 1,061 1445 1525 2970 &5 § 39,126| 55,285| 58,015 113,300
=) |ttt 5t 4601| 6,401| 6,899 13,300




